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(12) doi Am{U A§Va, aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘

1) A{‘V 5 nmZo EH$ {XdgmV {b{hVmo Va g§Ü¶m 2 nmZo EH$ {XdgmV nwgyZ Q>mH$Vo. Oa A{‘V Am{U g§Ü¶m EH$ {XdgmAmS>
H$m‘ H$aV AgVrb (n{hë¶m {Xder A{‘V Am{U Xþgè¶m {Xder g§Ü¶m), Va 60 nmZm§Mo nwñVH$ {bhm¶bm Ë¶m§Zm {H$Vr
{Xdg bmJVrb? A{‘VMo 60 nmZo nyU© Pmë¶mda g§Ü¶m nmZo nwgUo ~§X H$aVo.
1) 40 2) 38.6 3) 30.2 4) 20

1) Amit writes 5 pages a day. Sandhya erases 2 pages a day. How many days they will take to write a

60 page book, if they work on alternate days (Amit works on first day and Sandhya on second

day)? Once Amit completes writing 60 pages, Sandhya stops erasing.

1) 40 2) 38.6 3) 30.2 4) 20

2) A{‘V ‘moQ>ma gm¶H$c déZ nyd©oH$S>o 10 {H$‘r d VodT>oM A§Va X{jUoH$S>o Jocm. Ë¶mZ§Va Vmo nyd©oH$S>o diyZ AmUIr 5 {H$‘r
Jocm. Ë¶mZ§Va Vmo Ho$di S>mì¶m ~mOyg XmoZ doim diyZ àË¶oH$s 15 {H$‘r A§Va Jocm Va Vmo ‘yiñWmZmnmgyZ {H$Vr  A§Va
Xÿa Jocm ?
1) 10 {H$‘r 2) 18 3) 43 4) 19

2) Amit rides a bike 10 km east and then same distance towards south. Now he turns east for another

5 km. Then he turns only left at two points to travel 15 km each.

How far is he from the starting point ?

1) 10km 2) 7.5km 3) 5km 4) 15km

3) g§O¶, naoenojm {VßnQ> doJmZo Am{U naoe, {Zboenojm nmMnQ> doJmZo MmbVmo, Va {ZboeZo 45 {‘{ZQ>mV Ho$bobm àdmg
naoe ’$º$ ...... {‘{ZQ>mV H$aob.
1) 27 2) 9 3) 15 4) 37

3) Sanjay walks thrice as fast as Paresh and Paresh walks five times as fast as Nilesh, so Paresh will

cover the distance covered by Nilesh in 45 minutes in just ...... minutes.

1) 27 2) 9 3) 15 4) 37

4) Oa 24 nwéf 40 ‘rQ>a × 25 ‘rQ>a × 10 ‘rQ>a AmH$mamÀ¶m EH$m q^VrMo ~m§YH$m‘ 80 {Xdgm§V nyU© H$ê$ eH$VmV,
Va 16 nwéf 75 ‘rQ>a × 20 ‘rQ>a × 8 ‘rQ>a AmH$mamMr q^V {H$Vr {Xdgm§V ~m§Yy eH$Vrb?
1) 140 {Xdg 2) 144 {Xdg 3) 122 {Xdg 4) 128 {Xdg

4) If 24 men can complete construction of a 40 m × 25 m × 10 m size wall in 80 days, then in how

many days can 16 men construct a 75 m × 20 m × 8 m size wall?

1) 140 days 2) 144 days 3) 122 days 4) 128 days

5) Q́>oZ P {X„rhÿZ gH$mir 6:00 dmOVm {ZKVo Am{U ̂ monmibm gH$mir 9:00 dmOVm nmohmoMVo, Q´>oZ Q ̂ monmihÿZ gH$mir
7:00 dmOVm {ZKVo Am{U {X„rbm gH$mir 9:00 dmOVm nmohmoMVo. XmoÝhr Q´>oZ {H$Vr dmOVm Amobm§S>Vrb?
1) gH$mir 7.48 2) gH$mir 8:12 3) gH$mir 8.15 4) gH$mir 7:54

5) Train P leaves Delhi at 6:00 a.m. and reaches Bhopal at 9:00 a.m. Train Q leaves Bhopal at 7:00

a.m. and reaches Delhi at 9:00 a.m. at what time do both the trains cross each other?

1) 7.48 a.m. 2) 8:12 a.m. 3) 8.15 a.m. 4) 7:54 a.m.
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6) EH$ ‘moQ>admhZ EH$m A§VamMm EH$ MVwWmªe ̂ mJ 36 {H$‘r/Vmg doJmZo, Cd©[aV A§VamMm AYm© ̂ mJ 54 {H$‘r/Vmg doJmZo
Am{U Cd©[aV A§Va 72 {H$‘r/Vmg doJmZo H$mnVo. g§nyU© àdmgmgmR>r ‘moQ>ma dmhZmMm gamgar doJ ({H$‘r/Vmg ‘Ü¶o)
{H$Vr Amho?
1) 55 9/

11
 {H$‘r/Vm 2) 54 5/

11
 {H$‘r/Vm 3) 52 4/

11
 {H$‘r/Vm 4) 51 7/

11
 {H$‘r/Vm

6) A motor vehicle travel one-fourth of the distance at a speed of 36 km/h, half of the remaining

distance at a speed of 54 km/h and remaining distance at 72 km/h. What is the average speed (in

km/h) of the motor vehicle for the whole journey?

1)  55 9/
11

 km/h 2) 54 5/
11

 km/h 3) 52 4/
11

 km/h 4) 51 7/
11

 km/h

7) EH$ ‘moQ>a ~moQ> 5 Vmgm§V àdmhmÀ¶m {XeoZo  66 {H$‘r Am{U àdmhmÀ¶m CbQ> {XeoZo 32 {H$‘r OmVo. VgoM hr ~moQ> 2
Vmg 30 {‘{ZQ>m§V àdmhmÀ¶m {XeoZo 22 {H$‘r Am{U àdmhmÀ¶m {déÕ {XeoZo 24 {H$‘r OmVo. pñWa nmÊ¶mV ‘moQ>ma ~moQ>Mm
doJ {H$Vr Amho?
1)  18 {H$‘r/Vm 2) 19 {H$‘r/Vm 3) 20 {H$‘r/Vm 4) 21 {H$‘r/Vm

7) A motor boat goes 66 km downtream and 32 km upstream in 5 hours. Also, this boat goes 22 km

dowustream and 24 km upstream in 2 hours 30 minutes. What is the speed of the motor boat in

still water?

1)  18 km/h 2) 19 km/h 3) 20 km/h 4) 21 km/h

8) 4 nwéf EH$ H$m‘ 8 {Xdgm§V nyU© H$aVmV, VoM H$m‘ 8 {ó¶m 16 {Xdgm§V nyU© H$aVmV. hoM H$m‘ 4 nwéf d 4 {ó¶m
{H$Vr {Xdgm§V nyU© H$aVrb?
1) 3 2/5 {Xdgm§V 2) 3 1/3 {Xdgm§V 3) 5 2/6 {Xdgm§V 4) 6 2/5 {Xdgm§V

8) 4 men complete a work in 8 days and same work 8 women complete in 16 days. Then in how many

days 4 men and 4 women will complete the same work ?

1) 3  2  days 2) 3  1  days 3) 5  2  days 4) 6  2  days
     5           3           6           5

9) ‘moQ>aJmS>r . 60 {H$.‘r. à{V Vmg doJmZo YmdVo Va ‘moQ>maJmS>r . 75 {H$.‘r. à{V Vmg doJmZo YmdVo. XmoÝhr JmS>çm EH$mM
{XeoZo YmdVmV. ‘moQ>aJmS>r . hr ‘moQ>maJmS>r . À¶m 60 {H$.‘r. nwT>o Amho. Va ‘moQ>maJmS>r . bm ‘moQ>maJmS>r . n¶ªV
nmohmoMÊ¶mg {H$Vr doi bmJob?
1) 15 Vmg 2) 4 Vmg 3) 2 Vmg 4) 4.5 Vmg

9) Car A travels at a speed 60 kmph and Car B travels at a speed of 75 kmph. Both cars are travelling

in the same direction. Car A is 60 km ahead of Car B. How much time will it take for Car B to

reach at Car A ?

1) 15 hrs 2) 4 hrs 3) 2 hrs 4) 4.5 hrs

CÎmao : (12) doi Am{U A§Va, aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘

1-2 2-3 3-2 4-2 5-1 6-3 7-2 8-4 9-2


